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PACIFIC ACADEMY OF HIGHER EDUCATION AND

RESEARCH UNIVERSITY, UDAIPUR

Admission Test for Ph.D.

SECTION – B

Law

Max. Marks : 100
Total Max. Time : 03 Hours

Roll No. (in figures) ______________________________________________________________________________________

Roll No. (in words) _______________________________________________________________________________________

Signature of the Candidate _______________________________________________________________________________

Signature of Invigilator's 1. _________________________________________ 2. _________________________________

Q.1 Under section 99, the right of private defense is : 
/kkjk 99 ds vUrxZr izkbZosV izfrj{kk dk vf/kdkj%

(a) Not available at all against public
servants engaged in the
discharge of their lawful duties.
yksd izkf/kdkfj;ksa ds fo:} dHkh Hkh

izkIr ugh gksxk tc os vius fof/kd

dÙkZO;ksa dk ikyu dj jgs gSA

(b) Available against public servants
only when their acts cause
reasonable apprehension of death
or grievous hart.
yksd izkf/kdkfj;ksa ds fo:} rHkh izkIr gksxk

tc mudsa dk;Z ls e`R;q ;k ?kksj migfr fd

;qfDr;qDr vk’kadk gksA

(c) Above “A” and “B”.
mijksDr “A” vkSj “B”

(d) All are wrong.
lHkh xyr gSA

[             ]

Q.2 Adultery as defined under section 497 of IPC 1860, is an offence against :
tkjdeZ tks Hkkjrh; n.M laafgrk 1860 dh /kkjk 497 esa ifjHkkf"kr gS ;g ,d vijk/k gS %

(a) Husband
ifr ds fo:)

(b) Wife
iRuh ds fo:)

(c) Both (A) and (B)
nksauksa (A) vkSj (B)

(d) Minor wife
vo;Ld iRuh ds fo:)

[             ]

Q.3 Under section 46 of IPC 1860 “death” denutes :
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/kkjk 46 Hkkjrh; n.M lafgrk 1860 ds vUrxZr ßeqR;qÞ ?kksrd gSA

(a) Death of an animal
fdlh Ik’kq fd eqR;qq

(b) Death of human being and of an
animal
fdlh ekuo vkSj i'kq fd eqR;q

(c) Death of human being
fdlh ekuo dh eqR;q

(d) All of the the above
mijksDr lHkh

[             ]

Q.4 A writ of ………………is issued to an inferior court preventing the letter from
assuming juriselication which is not legally vested in it.
fjV NksVs U;k;ky;ksa dks tkjh fd;k tkrk gS ftlls fd os vius mu vf/kdkjks dk iz;ksx u djs tks

mUgs izkIr ugh gSA

(a) Prohibition
izfr"ks/k

(b) Certiorari

mRizs"k.k

(c) Mandamus
ijekns’k

(d) All of the above
mijksDr lHkh

[             ]

Q.5 A lock-out declosed in consequence of an illegal strike or strike in consequence of
an illegal lock-out shall be deemed to be illegal.
,d voS/k gMrky ds ifj.kke Lo:Ik rkykcUnh dh tkrh gS ;k voS/k rkykcanh ds ifj.kke Lo:Ik

gMrky dh tkrh gS] rks bls voS/k ekuk tk,xk A

(a) No
Ukgh

(b) Yes
gka

(c) Legal only when notice is given
bls oS/k rHkh ekuk tk,xk tc lwpuk nh

xbZ gks

(d) All above wrong
mijksDr lHkh xyr gSaA

[             ]

Q.6 Rights of arrested person are given in article.
fxj¶rkj O;fDr ds vf/kdkj fn;s x;s gS] vuqPNsn%

(a) 23 (b) 24
(c) 32 (d) All are wrong

lHkh xyr gSA

[             ]

Q.7 Treaties are the sources of international law.
lfU/k;ka vUrjkZ"Vªh; fof/k dk L=ksr gS%

(a) No
ugh

(b) Yes
gka

(c) Partly  yes
vkaf'kd :i ls gka

(d) Partly no
vkaf'kd :Ik ls ugh

[             ]

Q.8 World health organization is a:
fo'o LokLF; laxBu gSA

(a) Permanent organs
LFkk;h vax

(b) Specialized agencies
fof'k"V vfHkdj.k

(c) All the above (d) None of the above [             ]
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mijksDr lHkh mijksDr dksbZ ugh

Q.9 “Extradition” is a right give by international law.
izR;iZ.k ,d vUrjkZ"Vªh; fof/k }kjk fn;k x;k vf/kdkj gSA

(a) No
ugha

(b) Yes
gka

(c) Above (A or B)
mijksDr (A ;k B)

(d) Above (A) and (B)
mijksDr (A) vkSj (B)

[             ]

Q.1
0

Registration of trade unions is compulsory.
 O;olk; la?kks dk iathdj.k vfuok;Z gSA

(a) No
ugh

(b) Yes
gka

(c) Can’t say
dqN dg ugh ldrs

(d) All the above
mijksDr lHkh

[             ]

Q.1
1

When an individual dispute becomes industrial dispute.
futh fookn dc vkS|ksfxd fookn cu tkrk gSA

(a) Never
dHkh ugh

(b) If court order
;fn U;k;ky; vkns’k ns rks

(c) When employee is terminated
Tkc deZpkjh dks c[kkZLr fd;k tkrk gSA

(d) All are wrong
LkHkh xyr gSA

[             ]

Q.1
2

Abetment is defined in section.
nq"izsj.k ifjHkkf"kr fd;k x;k gS /kkjk

(a) 105 (b) 103
(c) 106 (d) None of the above

mijksDr dksbZ ugh

[             ]

Q.1
3

A woman who causes herself to miscarry is not a crime under section 312 of IPC
1860; the statement is.
Tkks L=h Lo;a viuk xHkZikr dkfjr djrh gSA og /kkjk 312 Hkkjrh; naM lafgrk 1860 ds vUrZxZr

vijk/k ugh gS] ;g dFkuA

(a) True
Lkgh gS

(b) Wrong
xyr gS

(c) Can’t say
dqN ugh dg ldrs

(d) Partly true
v/kZ&lR; gS

[             ]

Q.1
4

Culpable homicide.
vkijkf/kd ekuo & o/kA

(a) Is crime
vijk/k gS

(b) Is like murder
gR;k ds leku gS

(c) Above all (d) None of above [             ]
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mijksDr lHkh mijksDr dksbZ ugh

Q.1
5

Secular is another word which was inserted in 1977along with “socialism” the
statement is:-
iaFkfujis{k 'kCn 1977 esa ßlektoknhÞ 'kCn ds lkFk var%LFkkfir fd;k x;k Fkk] ;g dFku gS%&

(a) True
lR;

(b) Wrong
vlR;

(c) Partly
vkaf'kd lR;

(d) Partly wrong
vkaf'kd vlR;

[             ]

Q.1
6

Rajya sabha composed of…………members.
jkT; lHkk dk xBu ---------------lnL;ks ls gksrk gSA

(a) 238 (b) 250
(c) 245 (d) 233 [             ]

Q.1
7

The constitution envisage…………..types of emergency
lafo/kku esa-----------------izdkj dh vkikr dh ifjdYikuk gS%&

(a) (1) (b) (2)
(c) (3) (d) (6) [             ]

Q.1
8

The high court is not a court subordinate to the supreme court.
mPp U;k;ky;] mPpre U;k;ky; ds v/khuLFk U;k;ky; ugh gS%&

(a) True statement
lgh dFku gSA

(b)  Wrong statement
xyr dFku gSA

(c) Partly true
vkaf'kd lR;

(d) Partly wrong
vkaf’kd vlR;

[             ]

Q.1
9

Jurisprudence is the science of “Civil Law” the statement is made by.
fof/k’kkL= ukxfjd fof/k dk foKku gS] ;g dFku dgk x;k%

(a) Salmond
Lkke.M }kjk

(b) Halland
gkWyS.M }kjk

(c) Oppenhiem
vksisughu }kjk

(d) All above
mijksDr lHkh

[             ]

Q.2
0

Which of the following statement is true?
fuEu esa lsa dkSu&lk dFku lR; gS ?

(a) Consideration must be result in a
benefit to both parties 
izfrQy ds QyLo:i nksuksa i{kdkjksa dks

ykHk gksuk pkfg;s

(b) Past consideration is no
consideration in india
Hkwrdkyhu izfrQy Hkkjr esa izfrQy ugh

ekuk tkrk 

(c) Consideration must be adeguate
izfrQy Ik;kZIr gksuk pkfg;s

(d) Consideration must be something
which a promisor is not already
bound to do.

[             ]
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izfrQy ,slk dqN gksuk pkfg;s ftlls

opunkrk igys ls gh djus ds fy, ck/; u

gks A  

Q.2
1

What are the constituents of valid customs?
mfpr izFkkvksa ds D;k y{k.k gS?

(a) Reasonable
mfpr

(b) Continuity
fujUrjrk

(c) Immemorial antiguity
vrhrdky ls izpfyr

(d) All above
mijksDr lHkh

[             ]

Q.2
2

Judge are the discovers, not the creators of law the statement is made by.
U;k;k/kh’k fof/k fd [kkst djr gS] fuekZ.k ugh] ;g dFku dgk x;kA

(a) Black stone
CySd LVksu

(b) C.K Allen
lh- ds- ,syu

(c) Stendale
LVuZMsy

(d) All above
mijksDr lHkh

[             ]

Q.2
3

Aminor’s liability for “necessaries” supplied to him:
mldks vkiwfrZ dh xbZ ßvfuok;ZrkvksaÞ ds fy, ,d vo;Ld dk nkf;Ro%

(a) Aries after he affairs majority
age
mRiUu gksrk gS tc o;Ldrk izkIr dj

ysrk gS

(b) Is against only minor’s property.
dsoy vo;Ld dh lEifr ds izfr gksrk gS

(c) Does not arise at all
fcYdqy mRiUu ugh gksrk

(d) Arises is minor gives a promise for
it
mRiUu gksrk gSa ;fn vo;Ld mlds fy,

opu nsrk gSA

[             ]

Q.2
4

Jurisprudence is “social engineering” the statement is made by.
fof/k’kkL= ßlkekftd ;U= 'kkL=Þ gS] ;g dFku dgk x;kA

(a) Spencer
LisUlj

(b) August compte
vkxLV dkWEVs

(c) Pound
ikm.M

(d) All the above
mijksDr lHkh

[             ]

Q.2
5

“International law is the vanishing point of jurisprudence the statement is made
by :-
ßvUrjkZ"Vªh; fof/k] fof/k 'kkL= ds ál fcUnw gSÞ ;g dFku dgk x;k A

(a) Austin
vkWfLVu

(b) Holland
gkWyS.M

(c) Inhering
Bgfjax

(d) Roguin
jksbu

[             ]
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Q.2
6

Consent is not said to be free when it is caused by:
lgefr dks Lora= ugha dgk tkrk tc ;g fuEu ls mRiUu gksrh gS%

(a) Coercion
izihMu

(b) Undue Influence
vuqfpr ncko

(c) Fraud
diV

(d) All  of these
;s lHkh

[             ]

Q.2
7

Universal declaration of human right is accepted on.
Ekkuo vf/kdkjksa dh lkoZHkkSe ?kks"k.kk dks Lohdkj fd;k x;kA

(a) 1948 (b) 1945
(c) 1947 (d) 1689 [             ]

Q.2
8

Procedures of amicable settlement of International disputes are.
vUrjkZ"Vªh; fooknksa ds eS=hiw.kZ lek/kku dh izfØ;k gSA

(a) Negotiation
le>kSrk okrkZ

(b) Mediation
e/;LFkrk

(c) Conciliations
lajk/kku ¼lqyg½

(d) All the above
mijksDr lHkh

[             ]

Q.2
9

Defamation, Trespass, Nuisance are.
Ekugkfu] vfrpkj] viznq"k.k gSA

(a) Crime
vijk/k

(b) Tort
vid`R;

(c) Crime and tort
vijk/k vkSj vidR̀;

(d) None of the above
mijksDr dksbZ ugha

[             ]

Q.3
0

A contract made by mistake about the Indian law, is.
Hkkjr ds dkuwu ds ckjs esa Hkwy }kjk fd;k x;k ,d vuqcU/k gksrk gSA

(a) Void
'kwU;

(b) Valid
oS/k

(c) Voidable
'kwU;dj.kh;

(d) Illegal
voS/kkfud

[             ]

Q.3
1

General exceptions of fort are.
vid`R; ds lkekU; viokn gSaA

(a) Act of god
bZ’ojh; ?kVuka,

(b) Inevitable accident
vo';lEHkkoh ?kVuka,

(c) Act of necessity
vko';drk ds dk;Z

(d) All the above
mijksDr lHkh

[             ]
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Q.3
2

Circumstances under which vicarious liability arises.
ifjfLFkfr;ka ftuesa izfrfufgr nkf;Ro mRiUu gksrk gSA

(a) Liability by ratification
vuqleFkZu }kjk mRiUu nkf;Ro

(b) Liability arises from of special
relationship
fo'ks"k lEcU/k ds dkj.k mRiUu nkf;Ro

(c) Mistake of fects
rF;ksa dh Hkwy

(d) Above (A and B)
mijksDr  (A vkSj B)

[             ]

Q.3
3

That the marriage has not been consummated owing to the impotence of the
respondent than marriage is.
‘fd izR;;h dh uiqaldrk ds dkj.k fookgksÙkj la;ksx ugh gqvk gS] rks fookg gksxk%

(a) Void
'kwU;

(b) Voidable
'kwU;dj.kh;

(c) Illegal
voS/k

(d) All above
mijksDr lHkh

[             ]

Q.3
4

An offer may lapse by.
,d izLrko fxj ldrk gSA

(a) Revocation
izfrlgj.k

(b) Counter offer
izfr&izLrko

(c) Rejection of offer by offeree
izLrkoxzghrk }kjk izLrko ds vLohdkj

djus ls

(d) All of these
bu lHkh ds }kjk

[             ]

Q.3
5

Court to which petition shall be presented for divorce.
og U;k;ky; ftlesa fookg&foPNsn dh vthZ miLFkkfir dh tk,xhA

(a) Where the marriage was
solemnized
tgka fookg dk vuq"Bku gqvk

(b) Where the parties to the marriage
last resident together
fookg ds i{kdkjks us tgka vafre ckj ,d

lkFk fuokl fd;k FkkA

(c) Above all
mijksDr lHkh

(d) None of the abobe
mijksDr dksbZ ugh

[             ]

Q.3
6

Injury means.
{kfr dk vFkZ gSa A

(a) Injury to body
'kjhj dks {kfr

(b) Illegally caused to body
'kjhj dks voS/k :i ls {kfr

(c) Above all (d) None of above [             ]
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mijksDr lHkh mijksDr dksbZ ugh

Q.3
7

Where the consert of both the parties is given by mistake the contract is.
tgkW nksauksa i{kdkjks dh lgefr xyrh }kjk nh tkrh gS] rks lafonk gksxh

(a) Void
'kqU;

(b) Valid
oS/k

(c) Vaidable
'kwU;dj.kh;

(d) Illegal
voS/k

[             ]

Q.3
8

‘Pure theory of law is given by.
ß’kq+) fof/k dk fl)karÞ fn;k x;kA

(a) Hall
gkWy

(b) Kelson
dSYlu

(c) Austin
vkWfLVu

(d) Above (A) and (B)
mijksDr (A) vkSj   (B)

[             ]

Q.3
9

Fundamental right of freedom is given to.
LorU=rk dk ewy vf/kdkj fn;k x;k gSa%

(a) Every person
lHkh O;fDr;ksa dks 

(b) Every citizen
lHkh ukxfjdks dks  

(c) Every person and artificial
person
lHkh O;fDr;ksa vkSj df̀=e O;fDr;ks dks

(d) All the above
mijksDr lHkh

[             ]

Q.4
0

The head of the executive is.
dk;Zikfydk dk v/;{k gksrk gSaA

(a) Prime minister
iz/kkuea=h

(b) President
jk"Vªifr

(c) Above both jointly
mijksDr nksuksa l;aqDr :i ls

(d) None of the above
mijksDr dksbZ ugha

[             ]

Q.4
1

Nature of directive principal is .
uhfr funs’kd rRoksa dh izd`fr gSa&

(a) Negative
udkjkRed

(b) Positive
ldkjkRed

(c) Partly positive and partly
negative

(d) All above
mijksDr lHkh

[             ]
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dqN ldkjkRed dqN udkjkRed

Q.4
2

‘A’ instigates ‘B’ to murder ‘C’,’B’ refuse s to do so ‘A’ is guilty of.
ßxÞ dh gR;k djus ds fy, ß[kÞ dks ßdÞ mdlkrk gSA ß[kÞ oSlk djus ls bUdkj dj nsrk gS] ‘A’

nks"kh gS%&

(a) Abetting ‘B’ to commit murder
ß[kÞ dh gR;k ds nq"izsj.k dk

(b) Abetting ‘a’ to commit murder
ßdÞ dh gR;k ds nq"izsj.k dk

(c) Abetting ‘B’ to commit murder
gR;k djus ds fy, ß[kÞ ds nq"izsj.k dk

(d) None of the above
mijksDr dksbZ ugh

[             ]

Q.4
3

A contract with minor, which is beneficial for him is.
vo;Ld ds LkkFk ,d vuqcU/k tks mlds fy, ykHkdkjh gksrk gSa] og gS

(a) Void abinitio
izkjEHk ls nh 'kwU;

(b) Voidable
'kwU;dj.kh;

(c) Valid
oS/k

(d) Illegal
voS/k

[             ]

Q.4
4

Residuary power is given to.
vof'k"V 'kfDr;ka iznku fd xbZ gSA

(a) Rajaysabha
jkT;lHkk

(b) Loksabha
yksdlHkk

(c) Parliament
laln

(d) President
jk"Vªifr

[             ]

Q.4
5

In case of over lopping between the union listand concurrent list, who is
preferred.
leorhZ lwph esa vfrO;kfIr gksus ij fdls ojh;rk feysxh%

(a) State list
jkT; lwph

(b) Concurrent list
leorhZ lwph

(c) Union list
la?k lwph

(d) Harmonious list
leUo;dkjh lwph

[             ]

Q.4
6

Remoteness of damages means-
nwjLFk gkfu dk vFkZ gS

(a) Far damages
nwj dh gkfu

(b) Indirect damages
vizR;{k gkfu

(c) All the above
mijksDr lHkh

(d) None of the above
mijksDr dksbZ ugh

[             ]

Q.4
7

‘Restitution of conjugal right is given in section.
ßnkEiR; vf/kdkjks dk izR;kLFkkiuÞ fn;k x;k gSa] /kkjk
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(a) 9 (b) 10
(c) 11 (d) 18 [             ]

Q.4
8

Parliament may by law establish a common high court for two or more states
under article.
laln fof/k }kjk nks ;k vf/kd jkT;ksa ds fy, ,d mPp U;k;ky; LFkkfir dj ldsxh vuqPNsnA

(a) 231 (b) 232
(c) 133 (d) 227

Q.4
9

“Fundamental rights impose limitations on the power” of legislatures.
ewy vf/kdkj fo/kku&eaMy dh 'kfDR;ksa dks e;kZfnr djrs gSA

(a) Above statement is true
mijksDr dFku lR; gSA

(b) Above statement is false
mijksDr dFku vlR; gSA

(c) Above statement is partly true
mijksDr dFku vkaf’kd :i ls lR; gSA

(d) None of the above
mijksDr lHkh xyr gSaA

Q.5
0

A …………….agreement is one, which is enforceable at the option of one partly.
,d------------------djkj ,slk djkj gS tks ,d i{kdkj ds p;u ij gh izorZuh; gksrk gSaA

(a) Voidable
'kwU;dj.kh;

(b) Void
'kwU;

(c) Valid
oS/k

(d) Illegal
voS/k
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Rough Sheet


